MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCOQ) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

WinDor, Incorporated

7500 Amsterdam drive

Orlando, Florida, 32832

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Series “8000” Aluminum Sliding Glass Door W/ Reinforcements-L. M. Impact

APPROVAL DOCUMENT: Drawing No. 07-02-2231, titled “8000 Series SGD-LMTI”, sheets 1 through 13 of
13, prepared by manufacturer, dated 03/01/07 and last revised on February 09, 2009 signed and sealed by Luis R.
Lomas, P.E., bearing the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance
number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & replaces NOA # 07-0402.07 consists of this page 1 and evidence page E-1, as well as
approval document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No 08-1010.10
‘MIAMI-DADE COUNTY' Expiration Date: November 18, 2012
Approval Date: April 01, 2009

Page 1
ot ‘



WinDor, Incorporated

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (transferred from file # 07-0402.07)
1. Manufacturer's die drawings and sections.
2. Drawing No. 07-02-2231, titled “ 8000 Series SGD-LMI”, sheets 1 through 13 of 13,
prepared by manufacturer, dated 03/01/07 and last revised on February 09, 2009, signed
and sealed by Luis R. Lomas, P.E.

B. TESTS (transferred from file # 07-0402.07)
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
5) Large Missile impact Test per FBC, TAS 201-94
6) Cyclic Wind Pressure Loading per FBC, TAS 203-94
Along with marked-up drawings and installation diagram of Aluminum Sliding Glass,
prepared by National Certified Testing Laboratories Inc, Test Report No. NCTL-210-3350-1,
dated 01/25/07 signed & sealed by Gerald J, Ferrara, P.E.
(Note: This test report has been revised by addendum letters August 28, 2007, issued by
National Certified Testing Laboratories Inc, signed & sealed by Gerald J, Ferrara, P.E.)

C. CALCULATIONS
1. Anchor verification calculations complying w/ FBC-2007, dated 09-18-08 and last
revised on 02-09-2009, prepared, signed and sealed by Luis R. Lomas, P.E.,
2. Glazing complies with ASTME-1300-02 &-04

D. QUALITY ASSURANCE BY:
1. Miami-Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 05-1208.02 issued to E.I. DuPont DeNemours, for “DuPont
Butacite ® PVB”, expiring on 12/11/2010
2. Notice of Acceptance No. 06-0216.06 issued to Solutia, for “Saflex IIIG clear & color
interlayer”, expiring on 05/21/2011
3. Notice of Acceptance No. 08-0514.08 issued to Solutia, for “Vanceva Composite
interlayer”, expiring on 12/11/2013

F. STATEMENTS
1. Statement letters of conformance and “No financial interest”, both dated Sep. 23, 2008,
signed and sealed by Luis R. Lomas, P.E.
2. Statement letter dated 11/24/2008, issued by Windor, acknowledging use of proper
Vanciva & SGP laminate thickness for LMI use, signed by Russell T. Traficante.
3. Statement of compliance, issued as part of the above referenced test report issued by
National Certified Testing Laboratories.

G. OTHER
1. This NOA revises & replaces NOA # 07-0402.07, expiring Nov. 18, 2012,
2, Test Proposal 06-0152, approved by BCCO.
\9\44&. \ . L’)'\AV\A...

Ishaq I. Chanda, P.E.

Product Control Examiner

NOA No 08-1010.10

Expiration Date: November 01, 2012
Approval Date: April 01, 2009




T E—— OVERALL TESTED SGD FRAME WIDTH = 362 3/16” e
12” REINFORCEMENT _ 12" REINFORCEMENT TVEYAR . - .
SEE DETAILS SEE DETAILS A S 127 REIN. BAR CENTERED AT ALLGD
@ Y & Z @ V, W & X X\/ VERTIGAL TYP. AT VERTICALS VERTICAL CONDITIONS TN
AT 19 2 SHT. 10 % CONDITION #1 | | /_ N
{ ' | ] ‘ ! . > 7 ! 7 1
/ u L% e
/ VERTICAL 7 T BOR PANEL 7] 4 (EVEYR 4 VERTICAL —/ 7 VERTICAL —/ 7 ——@
CONDITION #1 || -, 0 | | CONDITION #2 | CONDITION #1 |
L 7]
A /AN po eanel || =y Ay {2 g oeanel | DI PANEL | Al PANEL \ BO PANEL
R K ° i | X | 4 | 4 | \ 0
Il :
. @)
X NS/ \5/ | 53 x | | | REINFORCEMENT
=5 % % = | | (EACH INTERLOCK)
IR ‘ | i | | |
Ll
L= AN AR (VD (MY (NN @ N (P KLJ P QN QN
3 § (RN /RN \6&/ | \&/ \8/ ' \&/ \&/ \&/ \7/ \Z/ \Z/ | \Z/
8/ NG, AX. D.L.O.
| wax, D.LO. | | | | DETAIL K
8/ NG, | 0 4" ’l BV || |- REINFORCEMENT | A REINFORCEMENT | / / SHT. 7
% % 7 ‘ ALL PANELS / ’ YN, 7 } (EACH BUTTSTILE) / f (EACH BUTTSTILE) / | 4 At
TYP. MAX. PAN
%PDTLAA)f 51 ;L TESTED ELEVATION VIEW \WEEP SLOT
B BV VIEWED FROM EXTERIOR 3717 x 117 6"
Y, (6) PANELS SHOWN IN AN OOXXXO CONFIGURATION, FROM ENDS & AT

TABLE OF CONTENTS

SHEET
NUMBER DESCRIPTION
1 ELEVATION & GENERAL NOTES
2 ANCHORING LAYOUT & NOTES
3 27 _WS/NS VERTICAL CROSS SECTIONS
4 2L _WS/2T NS VERTICAL CRQSS SECTIONS
5 2T WS/NS HORIZONTAL CRQSS SECTIONS
6 VERTICAL _CONDITIONS HORIZONTAL CRQOSS SECTIONS
7 VERTICAL CONDITIONS HORIZONTAL CROSS SECTIONS
3 VERTICAL _CONDITIONS HORIZONTAL CRQSS SECTIONS
9 GLAZING DETAILS
10 HEADER REINFORCEMENT BAR DETAILS
11 BILL OF MATERIALS & UNIT COMPONENTS
12 UNIT _COMPONENTS
13 UNIT_COMPONENTS

AN UNLIMITED NUMBER OF PANELS IN
UNLIMITED CONFIGURATIONS IS
APPLICABLE AS LONG AS INDIVIDUAL
PANELS DO NOT EXCEED THE PANEL
HEIGHT AND WIDTH TESTED AND USE

GENERAL NOTES:

1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE REQUIREMENTS OF THE
CURRENT FLORIDA BUILDING CODE, INCLUDING THE HVHZ.

2) 1X OR 2X BUCK TO BE ENGINEERED SEPARATELY AND
CAPABLE OF TRANSFERRING LOAD IMPOSED TO THE
SUBSTRATE.

3) MASONRY/CONCRETE, 1X OR 2X WOOD BUCK, 20 GAUGE
STEEL FRAMING WITH 2X WOOD BACKING, ALL FRAMING TO
BE DESIGNED AND ANCHORED TO PROPERLY TRANSFER
ALL LOADS TO STRUCTURE, BUCK OR FRAMING IS
RESPONSIBILITY OF ARCHITECT OF RECORD.

4) PRODUCTS ARE APPROVED FOR USE WHERE LARGE MISSILE
IMPACT RESISTANCE IS REQUIRED, IMPACT PROTECTIVE
SYSTEM IS NOT REQUIRED FOR INSTALLATION OF THIS
PRODUCT.

VERTICAL CONDITIONS SHOWN HEREIN

ALUMINUM REINFORCED SGD—LMI
MAXIMUM DESIGN
PRESSURE RATING

EVERY VERTICAL

CONDITION
DO PANEL = 61 5/16” x 96 1/18"
BOR PANEL = 61 3/8" x 96 1/16"
El PANEL = 62 1/18” x 96 1/16"
DI PANEL = 61 1/16” x 96 1/16"
Al PANEL = 61 3/8" x 96 1/16"
BO PANEL = 61 5/16” x 96 1/16"
PRODUCT REVISED
#s complying with the Florids
Buidihg Code

Aeveptance No 0% - 10/0.10
Expiration Date WIL

h&jé_‘lv_lﬂﬁ.ua&*
Miami Dade Product Contrel

5) OVERALL FINISHED UNIT WIDTH IS NOT LIMITED TO THE POSITIVE | +100.0 PSF Division
OVERALL TESTED WIDTH OF 382 1/2”. NEGATIVE | ~130.0 PSF
8) ALL UNITS MUST BE REINFORCED AS SHOWN IN VERTICAL e TTIOITD
AND HORIZONTAL CROSS SECTIONS. LUIS R. LOMAS P.E. " RIVE
WinDoor ORLANDO, FL 32832
1-13| D | REVISED PER DADE LETTER DATED 01/22/09 01/26/09 TJH // ) S <A Phone: 407 481.8400
v, ’/té’ o> INCORPORATED o 0508 www.windootinc.com
1-=13| C | REVISED PER DADE LETTER DATED 11/09/08 11/19/08 |  TUH WC : —
’ g Title:
1-13] B | Updated to current Florida Building Code 07/23/08 TJH oé’#'}é”? 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
5'0 x 82 PANELS — ELEVATION & GENERAL NOTES
1 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Drn By: DWG NO. REV
REVISIONS NO. 62314 SCALE N.T.s, |PMTE 93/01/07  [SHEET 4 o 13




NOTES:

zz
=0
}__.
o &
- \<(
©VERTICAL e
CONDITION N
INTERIOR
EXTERIOR ] 4_”{2" -
. 4n e — 411 | e
ol 47 e s Ny
HEAD CLUSTER DETAIL Zz
(SEE NOTE 7 SHT. 2) =2
<
oo X
n <
 VERTICAL »a
CONDITION N
INTERIOR
, T

R
EXTERIOR 4
4’,
4,’

——

411

SILL CLUSTER DETAIL

1. THERE ARE (2) INSTALLATION ANCHORS AT EACH ANCHOR LOCATION.
2. FOR 2X WOOD FRAME INSTALLATION: ANCHORS ARE TO BE #14 WOOD SCREW OF

SUFFICIENT LENGTH TO ACHIEVE A MINIMUM EMBEDMENT OF 1 1/2” INTO (2) 2X FRAMING.
3. FOR 1X BUCK OVER MASONRY/CONCRETE INSTALLATION: HEAD AND JAMB ANCHORS ARE TO BE

1/4” DIA. ELCO CRETE—FLEX SS4 MASONRY SCREW OF SUFFICIENT LENGTH TO ACHIEVE A

MINIMUM EMBEDMENT OF 1 1/4” INTO MASONRY/CONCRETE. (1X BUCK TO BE PROPERLY SECURED)

4. FOR SILL DIRECTLY TO MASONRY/CONCRETE INSTALLATION: ANCHORS ARE TO BE 1/4” DIA.
ELCO CRETE—-FLEX SS4 MASONRY SCREW OF SUFFICIENT LENGTH TO ACHIEVE A MINIMUM

EMBEDMENT OF 1 1/4” INTO MASONRY/CONCRETE.
5. FOR WOOD BACKED STEEL FRAME INSTALLATION: ANCHORS ARE TO BE #14 WOOD SCREW OF

SUFFICIENT LENGTH TO ACHIEVE A MINIMUM EMBEDMENT OF 1

FRAMING.
6. 1/4" MAX. SHIM AS REQUIRED AT EACH SET OF INSTALLATION ANCHORS USING LOAD BEARING
SHIMS OR BETTER. SHIM FROM FRONT EDGE TO BACK EDGE TO FULLY SUPPORT FRAME.
SHIM WHERE A SPACE GREATER THAN 1/16" IS PRESENT, (MAXIMUM 1/4” SHIM).
7. ANCHORS AT HEAD CLUSTER MUST BE FLAT HEAD. REFER TO HEAD CLUSTER DETAIL.

14”7 14"
Lo MAXG g 187 L I MAXL
" 0.C. TYP. 0.C.
2)4(: MT%' TYP. 147 | TYP. SEE HEAD CLUSTER
B ' 18" MAX. 16" DETAIL TYPICAL
TYP 0.C. TYP.
68" MAX. _ B P 3
TYP. / / / /\
f | | | | | | | | | | | | | |
? : N N N i
> - L
<q x X X
= Q (@) @) o
. F . S S S L 3% o
© L) W % o 0 Lus =" 5
z .9
41k 52 )= )= = I NS R
= == == == s —0o +
9] [ O v [ 98] <
—18 5 = 5 gL
- - - .
. — < = < = < >
o 40O 25 S 25 259 oL <
L. - - - o T
g [ == . 3
N - o5 9 g5 559 2L X Q
~ < S som sm Sso g <o @
AP =
B - o
/ 7 / \ / \ .—___j_
! | l \/ ] ] l \/ 1 | T ! l T | ’
INSTALLATION ANCHOR / /
(2) PER LOCATION, SEE
NOTES 1-5 SHEET 2 ANCHORING LAYOUT SEE SILL CLUSTER
4PANEL UNIT SHOWN DETAIL TYPICAL
APPLICABLE TO ALL
APPROVED CONFIGURATIONS
PANEL CONSTRUCTION NOTE:
EACH PANEL HAS COPED AND BUTTED CORNERS. EACH
CORNER IS FASTENED TOGETHER WITH (2) #10 SS
PAN HEAD SCREWS, BILL OF MATERIALS ITEM #25 ) .
PROD L VISED
AND #81. SEE NOTE 2 SHT. 3 AND NOTE 3 SHT. 5. ffgggg;;‘fﬂmm,,
Buidihg Code
A‘clzeplgnc(e’ neS5-lol0 /D
1/2" INTO 2X FRAME CONSTRUCTION NOTE: Expiration Date Jov(8, 20/ 2~
FACH FRAME CORNER IS NOTCHED AND BUTTED AND B [9(«& I.LL‘wt—L
IS  SECURED TOGETHER WITH (2) #8 x 5/8” PHILLIPS Mismi Dad Prodwet Controd
PAN HEAD TYPE F SS SCREWS, BiLL OF MATERIALS Division
ITEM #26.
LUIS R. LOMAS P.E. ‘X?' 7500 AMSTERDAM DRIVE
1-13 EV DADE DATED 01/22,/09 01/26/09 TJH 4 / lnDoor ORLANDO, FL. 32832
- REVISED PER DADE LETTER DATED 01/22 g one: 407481,
y /27 %M INCORPORATED 11:;: :0:?1;14.(3);08;0 0 www.windootinc.com
1-13 REVISED PER DADE LETTER DATED 11/09/08 11/19/08 TJH 2y (XA eI
1-13 Updated to current Florida Building Code 07/23/08 TJH oé;/‘z/é?? 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
50 x 872 PANELS — ANCHORING LAYOUT & NOTES
2 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Drn By: WG NO. REV
SHEET | REV DESCRIPTION DATE BY FLORIDA REGISTRATION B TJH 07-02-2231 D
REVISIONS NO. 62514 SCAE NTS. [PATE 03/01/07  [SHEET 9 of 13




1X NON—STRUCTURAL
WOOD BUCK BY OTHERS

(TO BE PROPERLY SECURED)

MASONRY /CONCRETE

2X WOOD FRAMED
HEADER BY OTHERS

2X WOOD BACKER
BY OTHERS

HEADER BY OTHERS f Z 20 ga. MIN.
1 3/4” MIN = STEEL STUD
EDGE DIST. . @N @\\ BY OTHERS
11 \2
2 3/8" MIN. 0 .
@ 'SEPARATION _ ? 1
< A .
: . BACKER . . ~
ROD & xQ 5 = l
4 SEALANT X s ¢ . @
y N
GACKER BY OTHERS SR N
ROD & >~z B
SEALANT y ~Z - -
oY ¢ ) |
OTHERS ey e — 1 -
I | * B [ BACKER S — ) 1 I
— 51 ROD & L
i SEE NOTE
é” ug \s@? NOTE % % SEE NOTE SEALANT Sen 3 52
SHT. 3 = \ 3 SHT. 3 BY OTHERS ; >0
4 J T s I 51 \_. =
TN € < N
& & " &) @ 2
5) @3 SEE NOTE @ \@ @ \—@
' SEE MO - II 2SS SEE NOTE D SEE NOTE
: 1 SHT. 3 q SEE NOTE f- 2 i SEE NOTE
(63 1 SHT. 3 25815 sir. 3 (63) 1 SHT. 3 | oo ”:2 St
® o Ul A |al | @ © o Yl —ee
EXTERIOR ®@ @® EXTERIOR ®@ @® EXTERIOR ®@ @@
DODD) | OO0 ¢ OOID v
A=A VERTICAL CROSS SECTION B—B VERTICAL CROSS SECTION C—C VERTICAL CROSS SECTION
2T WS/NS ON 1X NON—STRUCTURAL WOOD BUCK 2T WS/NS ON 2X WOOD FRAMED HEAD 2T WS/NS ON 2X WOOD BACKED
TO MASONRY/CONCRETE HEAD STEEL STUD HEAD PRODUCT REVISED
(1X BUCK TO BE PROPERLY SECURED) a8 complying with the Florida
uiding Code (0. /¢

NOTES: Acceptance Nol5 /o (0.

1. ITEM #43, HEAD COVER, IS USED WITH ITEM # Expiration DuteAfoy/ 18, 2012
42, SILL COVER, TO SECURE MULTIPLE OR SINGLE Bylikag,LLlL—mée
FIXED PANELS INTO PLACE. DEPENDING ON THE Miami Dado/Prodct Contrel
CONFIGURATION BEING INSTALLED ITEM #43 en
AND #42 MAY BE REPLACED WITH ITEM #37, # |
8-3/4” PAN HEAD TEK SCREW TO SECURE FIXED e lome ot : 500 AMSTERDAM DRIVE
PANEL TO FIXED PANEL OR FIXED PANEL TO SR E W?lnDoor

;o ORLANDO, FL 32832
JAMB AS SHOWN IN SECTIONS ON SHEETS 3, 4, 1-13| D |REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TIH 7 / CORPORATED  Phone 407481340 S
5 & 6. (SEE NOTE SHEETS 5 & 6). . UC// 7 IN P Fax, 407481.0505 www.windoorinc.com

2. ON ALL INTERLOCK PANELS ONLY TOP RAIL 1-13| C | REVISED PER DADE LETTER DATED 11/09/08 | 11/138/08 TJH Z 4 u/ Bwg TS
ATTACHMENT TO THE INTERLOCK STILE, THE 1-13| B | Updated to current Florida Building Code 07/23/08 | TUH W% i 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
BOTTOM ASSEMBLY SCREW MUST BE ITEM #81. 5'0 x 8’2 PANELS — 2T WS/NS VERTICAL SECTIONS

3. SEE DETAILS V, W, X, Y & Z ON SHEET 10 FOR 3 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE| Drn By: DWG NO. REV
g\‘Est%LRAg'EOMNENOTF B'/IEM #51, H.P. HEAD SHEET | REV DESCRIPTION DATE BY FLORIDA REGISTRATION B TJH 07-02-2231 D

' REVISIONS NG. 62514 scAE N TS, |PATE 03/01/07  [SHEET 3 of 13
_




NOTES:
1. SILL SHIM MUST BE SET IN A FULL BED OF APPROVED PRODUCT REVISED
SEALANT OR NON-SHRINK HIGH STRENGTH GROUT. Buiding voce e Finrit
2. ITEM #42, SILL COVER, IS USED WITH ITEM #43, HEAD Acceptance NDS-1p (0. /O
COVER, TO SECURE MULTIPLE OR SINGLE FIXED PANELS Expiration Date g/ | £, 20/ 2
INTO PLACE. DEPENDING ON THE CONFIGURATION m[g%q& | Lhaa Ao
BEING INSTALLED (TEM #42 AND #43 MAY BE REPLACED Mismi Dad{ Frodust Contvel
WITH ITEM # 37, #8-3/4" PAN HEAD TEK SCREW TP Bivisien
SECURE FIXED PANEL TO FIXED PANEL OR FIXED PANEL TO
JAMB, AS SHOWN IN  SECTIONS ON SHEETS 3, 4, 5 & 6. LUIS R. LOMAS P.E. . 7500 AMSTERDAM DRIVE
(SEE NOTE SHEETS 5 & 8). . , O(; lnDOOI' ORLANDO, FL 32832
3. ON ALL INTERLOCK PANELS ONLY BOTTOM RAIL 1-13] D |REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 | TuH V //17 /S INCORPORATEL  Phone 4074516400 L
ATTACHMENT TO THE INTERLOCK STILE, THE TOP 74— REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 | TuH sy (K Farmes : e windoorinccom
ASSEMBLY SCREW MUST BE ITEM #81. ' / Dwg Title:
1-13| B |Updated to current Florida Building Code 07/23/08 |  TJH ,/f&‘f/ 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
P I P d 5'0 x 82 PANELS — 2T WS/2T NS VERT SECTIONS
per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] D By WG NO. REV
SHEET | REV DESCRIPTION DATE BY FLORIDA REGISTRATION B TJH 07-02-2231 D
REVISIONS NQ. 82514 SCALE N T <. JDATEZ 03/01/07 |SHEET 4 of 13

|
B T

Ped

/

S

1l 1/4” MAX.

SHIM SPACE Q

1 3/4” MIN.
EDGE DIST.

SEE NOTE
1 SHT. 4

1/4” MIN,
EMB

2 3/8”" MIN.
SEPARATION

D—D VERTICAL CROSS SECTION
2T WS TO MASONRY/CONCRETE SLAB

1

EXTERIOR
DODO

SEE NOTE
2 SHI. 5

Zwiy

DOF

EE NOTE

SHT. 5

1/4” MAX.
SHIM SPACE
1/4” MIN.
EMB

1

(6.8

— -]

1 3/4” MiN.
EDGE DIST.

—

2 3/8” MIN.
SEPARATION

E-E VERTICAL CROSS SECTION

2T NS TO MASONRY/CONCRETE SLAB




= .
=% MASONRY/CONCRETE
. O JAMB BY OTHERS
¥
M & 1 1/4" MIN.
N EMBD.
\ L 1/4” MAX.
v SHIM SPACE

.
Jq_;ﬁ
§

2 3/8” MIN
SEPARATION
e 1

T SEE NOTE
BACKER ROD & SHT. 6
SEALANT BY
OTHERS

1X NON-STRUCTURAL
WOOD BUCK BY OTHERS
(TO BE PROPERLY SECURED)

F—F HORIZONTAL CROSS SECTION

EXTERIOR

2T WS/NS ON 1X NON—STRUCTURAL WOOD

BUCK TO MASONRY/CONCRETE JAMB
(1X BUCK TO BE PROPERLY SECURED)

NOTE: (FIXED PANEL TO FRAME JAMB)

ITEM #37, #8 x 3/4" SELF TAPPING
TEK SCREW IS USED TO SECURE THE FIXED PANEL

IN PLACE. (4) SCREWS ARE REQUIRED, 6" FROM
TOP AND BOTTOM CF PANEL AND (2) MORE
EQUALLY SPACED. IN THIS CONDITION ONLY (1)

SET OF SCREWS IS REQUIRED. SCREWS ARE 1-13| D |REVISED PER DADE LETTER DATED 01/22/09 | 01,/26/09 TJH / ///f /2 INCORPORATED ghon:(:);%fgéggm wewnwindoorinc.com

‘ % ax: ¥ R . "
SHOWN ON THE EXTERIOR FACE OF THE UNIT, BUT 1-13| C |REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 | TJH %'/ L. e :
CAN BE INSTALLED ON THE INTERIOR FACE g /Aén Dwg_Title:
INSTEAD. DEPENDING ON THE CONFIGURATION 1-13 Updated to current Florida Building Code 07/23/08 TJH o ? / 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH

! ' — {ZONTA CTIONS

BEING INSTALLED ITEM #37 MAYBE REPLACED WITH 5 A | Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SlZOE XD”?% _PANELS DW%TN\Q/S/NS HORIZONTAL SE =
ITEM #43, HEAD COVER, AND ITEM #42, SILL SHEET | REV SESCRIPTION OATE By B TJYH 07_'_02_2231 D
COVER, SEE CROSS SECTIONS ON SHEETS 3, 4, 5 FLORIDA REGISTRATION _
& 6. (ALSO SEE NOTE SHEET ). REVISIONS NO. 62514 scalE NT.s. |PATE 03/01/07  |SHEET 5 of 13

SP—

11/2” MIN. __|

— -

EMBD.

(2) 2X WOOD FRAMED
JAMB BY OTHERS

G—G HORIZONTAL CROSS_SECTION

2T WS/NS ON 2X WOOD FRAMED JAMB

1 1/2" MIN, __|
EMBD. .
i 1/4” MAX.
SHIM SPACE
4 37
SEE NOTE
BACKER SHT. 6
ROD &
SEALANT 2 EXTERIOR
BY
OTHERS

H—H HORIZONTAL CROSS SECTION

(2) 2X WOOD

BACKER

BY OTHERS

1/4” MAX.
SHIM SPACE

20 ga.

MIN.

STEEL STUD
BY OTHERS

37

SEE NOTE
SHT. 6

2

BACKER ROD
& SEALANT
BY OTHERS

EXTERIOR

2T WS/NS ON 2X WOOD
BACKED STEEL STUD JAMB

PRODUCT REVISED
8s complying with the Florida
Buiding Code

Acceptance No ﬂs '-[Q/[Z . /0

Expiration DaieW{L

By lgka ? ‘ .Légu___—(d
Miami Dadd Produet Contrel

Division

LUIS R, LOMAS P.E.

WinDoor

7500 AMSTERDAM DRIVE
ORLANDO, FL 32832




SPACED 6" FROM

SPACED 6” FROM TOP & BOTTOM
TOP & BOTTOM W/ (1) IN CENTER
W/ (1) IN CENTER OF INTERLOCK
OF BUTT STILE @
7 [ DN
SEE NOTE
SHT. 6 @
SILL
COVER

EXTERIOR

@@ ' EXTERIOR

@@ M—M_HORIZONTAL CROSS SECTION
(FIX—OPERABLE) (FIX—FIX) (OPERABLE—FIX)
BOR PANEL TO EI PANEL
VERTICAL CONDITION 1

HEAD EXTERIOR
COVER

L—L HORIZONTAL CROSS SECTION @
(FIX=FIX) (OPERABLE—FIX)
DO PANEL TO BOR PANEL
VERTICAL CONDITION 2

TN
SILL
COVER
5013 .
M w \ \ PRGBUCT REVISED
N’ ,
53 13150 lying with the Florid
7 L~~® RES) S \‘ \“ S
e et & M -,
SPACED 6" FROM ' ' SCREEN ADAPTER IS (19 SPACED 6” FROM Expirion omuzzuz,.Zo/L
TOP & BOTTOM ;‘\’ONLY USED IN CERTAIN Ly / 7
M2-M2 HORIZONTAL CROSS SECTION gy 1S b
W/ (1)_IN CENTER EXTERIOR CONFICURATIONS (FIX—OPERABLE) (FIX—FIX) (OPERABLE—FIX) W/ (1) IN CENTER B s
OF BUTT STILE L N—N_HORIZONTAL CROSS SECTION SOR PA,\SEL 0 & <PANEL OF INTERLOCK Pivision
OPERABLE~OPERABLE) (FIX—OPERABLE
NOTE: (FIX—FIX / FIX—OPERABLE / OPERABLE—FIX) ( El PANEL TO )DI(PANEI_ ) VERTICAL CONDITION
ITEM #37, #8 x 3/4” SELF TAPPING TEK SCREW IS VERTICAL CONDITION 2 LUIS R. LOMAS W‘ D 7500 AMSTERDAM DRIVE
USED TO SECURE THE FIXED PANEL IN PLACE. (8) - 1IN1J)OOYL  orLaNDO, FL 32832
SCREWS ARE REQUIRED, 6” FROM TOP AND BOTTOM OF 1-13 D REVISED PER DADE LETTER DATED 01/22/09 01/2 /09 TJH INCORPORATED g::%;%fgéggoo windoogine.com
PANEL AND (2) MORE EQUALLY SPACED WITH (1) SET 1-13| C | REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 TJH /47/” Se T
[ N
OF SCREWS ON THE EXTERIOR FACE AND (1) SET OF [ e rent Florido Building Code 07/23/08 | TUH g/ﬁ@ 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
SCREWS ON THE INTERIOR FACE. DEPENDING ON THE | / s me e oD NG NORZ SECTIONS
CONFIGURATION BEING INSTALLED ITEM #37 MAYBE 6 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Drn By: DWG Nb " REY
REPLACED WITH [TEM #43, HEAD COVER, AND ITEM #42, ' 07022931
SILL COVER, SEE CROSS SECTIONS A—A THROUGH J—J |SHEET|REV DESCRIPTIOR 2 o FLORIDA REGISTRATION S0 LA 2
SHEETS 3 THROUGH 5. (ALSO SEE NOTE SHEET 5). REVISIONS NO. 62514 SCALE N 7.5, |PATY 03-01-07 |SHEET g of 13




SPACED 6" FROM
TOP & BOTTOM
W/ (1) IN CENTER

OF INTERLOCK

BN\E
] A}
SILL I
COVER L
| \:
)
SPACED 8" FROM @ @@
TOP & BOTTOM EXTERIOR EXTERIOR
W/ (1) IN CENTER B @@
OF BUTT STILE
P—P_HORIZONTAL CROSS SECTION Q=Q HORIZONTAL CROSS SECTION
(OPERABLE—OPERABLE) (FIX—OPERABLE) (OPERABLE=FIX) (FIX~FIX)
DI TO Al PANEL Al TO BO PANEL
VERTICAL CONDITION 2 VERTICAL CONDITION 1
P
? EXTERIOR
) 45
Z =
3 41) 4
N
o~
N ;
E \ PROBUCT REVISED
— as complying with the Florida
| SUBSTRATE, SEE FULLY 54 T— mﬂ\@ BoidingCode
— T & DETAILED CROSS SECTIONS e Accepime NogZ% lolp. LOZ
/@ FRAME SNAP—IN BUMPER_VIEW by lebees (. Chiand.
MiamiDadéPrﬂmﬁ’l“
Divisi
EXTERIOR vision
~ = =1
L (57 LUIS R. LOMAS P.E. \Xf D 7500 AMSTERDAM DRIVE
: 1-13] D | REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TJH 1n1J)OO1 ORLANDO, FL 32832
- £22/ / /7 /. 7 /Aﬂ INCORPORATED g::ft:);%fgég;m www.windootinc.com
S 1-13| C |REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 TJH %/’/ (X ——
g t
J=J VERTICAL CROSS SECTION 1-13| B | Updated to current Florida Building Code 07/23/08 | TJH ug)/{;/g?? 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
HEAD BUMPER CLIP VIEW o 50 x 872 PANELS - VERT. CONDITIONS HORIZ SECTIONS
PANEL NOT SHOWN FOR CLARITY 7 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Drn By DWG NO. REV
SHEET | REV DESCRIPTION DATE BY , B TJH 07-02-2231 D
FLORIDA RECISTRATION
REVISIONS NQ. 62514 SCALE Ny T |PATE: 03/01/07 |SHEET 7 of 13




1 1/2" MIN. ___

ASONRY /CONCRETE
z . | JAMB BY OTHERS
==
0
:, O 1 1/4” MIN.
\L(SI EMBD.
M A
— L 1/4" MAX.
SHIM SPACE
<
4 N
Zz
=
2 < N
o X
SE
M B8]
wn .
« v
<
30 o
e
N/ ,

BACKER ROD
& SEALANT
BY OTHERS

1X NON-STRUCTURAL
WOOD BUCK BY OTHERS

(TO BE PROPERLY SECURED)

R=R OPERABLE LOCK STILE CROSS SECTION
2T WS/NS ON 1X NON-STRUCTURAL WOOD
BUCK TO MASONRY/CONCRETE JAMB
(1X BUCK TO BE PROPERLY SECURED)

EXTERIOR

EMBEDMENT

2

1/4” MAX.
SHIM SPACE

/“

L 1/4" MAX.
" SHIM SPACE
- 112 MIN 20 ga. MIN,

EMBD.
STEEL STUD
BY OTHERS

&

26
J
2 EXTERIOR
ACKER ROD
2) 2X WOOD & SEALANT
BACKER BY OTHERS
BY OTHERS

S—S QPERABLE [OCK STILE HORIZONTAL CROSS SECTION

(9169
/

7

2T WS/NS ON 2X WOOD BACKED STEEL STUD JAMB

&)
e
)

(2) 2X wOOoD
FRAME JAMB PRODUCT REVISED
as complying with the Flori
BY OTHERS = 26 Buidingzzl(igew ¢ Florids P
Aceeptance No_¢® 0/ -/O
Expiration Date__/ 20l2.
2 Byl‘)(ﬂa.:.é r._éé‘im—L
— Miami Dade Produnet Conton
T—T OPERABLE LOCK STILE HORIZONTAL CROSS SECTION BACKER ROD Divinkos Contral
2T WS/NS ON 2X WOOD FRAMED JAMB & SEALANT EXTERIOR
BY OTHERS
LUIS R. LOMAS P.E. ‘)(7' l ) 7500 AMSTERDAM DRIVE
1-13| D | REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TJH 4 7 1n 001 ORLANDO, FL 32832
~ ’ f‘/ 4 one: 481,
/ / X/ /;éﬂ/; INCORPORATED 113:‘;: 40;.33:80153300 www.windoorinc.com
1-13| C | REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 TJH W< . STERIE
| :
1-13] B | Updated to current Florida Building Code 07/23/08 TJH o 7/9? 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
/ 50 x 872 PANELS — 2T WS/NS HORIZONTAL SECTIONS
8 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Drn By: DWG NO. REV
SHEET | REV DESCRIPTION DATE BY B TJH 07-02-2231 D
FLORIDA REGISTRATION -
REVISIONS NO. 62514 scale N T.s. |PATE 03/01/07  [SHEET 8 of 13

®




1" MIN.
GLASS BITE

@ 1/4" HEAT STRENGTHENED 1/4" HEAT STRENGTHENED

GLASS GLASS_\

0.090" SGP 0.075" VANCEVA

17 GLASS
BITE

? BY DUPONT BY SOLUTIA
z . 1/4” HEAT STRENGTHENED 1/4” HEAT STRENGTHENED
EXTERIOR S CLASS GLASS =
> = EXTERIOR EXTERIOR
:  <C
GLAZING TYPE A, ITEM #39 = O
- * ~ GLAZING TYPE C, ITEM #16
9/16” LAMINATED HEAT o ,,
STRENGTHENED GLASS 9/16" LAMINATED HEAT
STRENGTHENED GLASS
W/0.090” SGP INTERLAYER "
' BY DUPONT W/0.075” VANCEVA INTERLAYER
BY SOLUTIA
1”7 GLASS
17 GLASS _ . y BITE
BITE <Z( % g— % @
Z < GLASS GLASS zZ < OF SEALED GLASS
. a‘_ © 0.0QO” SGP 0.075” VANCEVA :~—— ©
o BY DUPONT BY SOLUTIA
N 3/16" TEMPERED GLASS 3/16” TEMPERED GLASS
- \3/8” AIR SPACE b W—
3/8" AIR SPACE
EXTERIOR @ 3/16” TEMPERED @ EXTERIOR
GLASS . .
@@ 3/16" TEMPERED @@ PRODUCT REVISED .
GLASS :?:?;glémgewhh the Florida
» ul
GLAZING TYPE B, ITEM #47 3/8" ALUM. SPACER GLAZING TYPE C. ITEM #48 Acceptance No 05200 10./0
1" TEMPERED 1” TEMPERED Expiration Date_gyn.//g 29 )2 -
LAMINATED GLASS LAMINATED GLASS By lsaq_ci fé_,g Guels
W/0.090" SGP INTERLAYER W/0.075” VANCEVA INTERLAYER Mismi Dade Prodiuet Contoel
BY DUPONT BY SOLUTIA Divisian
LUIS R. LOMAS P.L. ‘X?'l I ) 7500 AMSTERDAM DRIVE
1-13| D |REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TJH e Y4 1 00f o NDO, FL 32832
" s INCORPORATED ~ DOiiis0 o o vinecom
1-13| C | REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 TJH 97 N y ' Sve TS
/ i .
1-13| B |Updated to current Florida Building Code 07/23/08 TJH ,g/éf/ﬂﬁ 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
50 x 82 PANELS — GLAZING DETAILS
9 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Drn By DWG NO. REV
SHEET | REV DESCRIPTION DATE BY FLORIDA REG!STRATION B TJH 07-02~-2231 D
REVISIONS NC. 82514 SCALE N.T.S. DATE: 03/01/07 SHEET 9 of 13




MASONRY /CONCRETE
HEADER BY OTHERS 2 1/2' MIN. E{2E)AD2E><R VE%O%TEEQEED INSTALLATION FOR REINF. éi)crggr? Weloly
1X NON=STRUCTURAL EDGE DIST. INSTALLATION ANCHORS gﬁfgw 5v OTWERS 2 &
WOOD BUCK BY OTHERS , ANCHORS 55
2 3/8" MIN. S
(TO BE PROPERLY SERARATION 2 B
20 ga. MIN. o™
SECURED) | / N
| A STEEL STUD 0
< { BY OTHERS O
~ “ .
FOR REINF, 4 >zS
SCREW < =0 FOR REINF,
ONLY - SCREW
} ONLY
N <A S| < - > | T
BACKER BACKER ~ zZZ f BACKER
ROD & ROD & =Y 4 ROD &
SEALANT SEALANT WD X SEALANT 8
BY = NS BY b =5 BY <z
OTHERS <5 OTHERS "2 % s  OTHERS 2
L 5 51 - ~T 5 <+ s
EXTERIOR s XTERIOR (7 ~ % Y TERIOR - NS
- n
DETAL V2T WS/KS HEAD SECTION W/ >% DETAIL W 2T WS/NS HEAD SECTION W/ DETAIL X 2T WS/NS HEAD SECTION W/
ITEM #51 TO MASONRY/CONCRETE ITEM #51 TO 2X WOOD FRAME ITEM #51 TO 2X WOOD BACKED
VERTICAL CONDITION 1 (2) 2X WOOD FRAMED VERTICAL CONDITION 1 STEEL FRAME
(1X BUCK TO BE PROPERLY SECURED) HEADER BY OTHERS OR ERTICAL CONDITION 1
2X WOOD BACKED . v -
MASONRY,/CONCRETE 20 o STEEL STUD NOTES:
HEADER BY OTHERS 2 12 M 99: L’\\JNSJ/Q(L)LQST‘ON 1. DOOR PANELS ARE NOT SHOWN FOR CLARITY OF
1% NON—STRUCTURAL FOR REINF. /2 MIN. ] W ZEe ITEM #51, H.P. HEAD REINFORCING BAR.
: <O Sg& 2. SECTIONS V, W & X ARE SHOWN AT A VERTICAL
WOoD: BUCK BY OTHERS |\ - SCREW  ehona N <X T3 CONDITION WHERE THERE IS A PANEL ON BOTH
(TO BE PROPERLY L (7 N TRACKS, CONDITION 1.
SECURED) vz -2 SECTIONS Y & Z ARE SHOWN AT VERTICAL CONDITION
) 4 | > O WHERE THERE IS ONLY ONE PANEL IN ONE TRACK,
CONDITION 2.
Yo 3. [TEM #51, HEAD REINFORCEMENT BAR, MUST BE
4 7 SZ2 CENTERED BETWEEN CENTER THREE INSTALLATION
' < =0 FASTENERS IN CLUSTER PATTERN AT HEAD VERTICAL
= CONDITION.
N * . PRODUCT REVISED
;)I@ )| a8 complying with the Florida
=l 1YY L& L3 f Buiding Code
BACKER — oy
ROD & BACKER _— SEE SHT. 11 FOR Expivation s 2ot O
SEALANT | ROD & REIN. SCREW DETAIL
BY LU SEALA& DETAIL 7 2T WS/NS HEAD SECTION W/ ﬂrw
OTHERS X OTHERS ITEM #51 TO 2X WOOD FRAME/ D i Dade Produst Contrel
EXTERIOR Za 5] FOR REINF. 2X WOOD BACKED STEEL STUD |
EALLRIDR Y3 EXTERIOR (7 SCRE VERTICAL CONDITION 2
oI ONLY S ‘xr D 7500 AMSTERDAM DRIVE
n LUIS R. LOMAS P.E,
DETAIL Y _2T WS/NS HEAD SECTION W/ 1-13| D |REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TJH /' 74 1n1J)oor 0 DO, FL 32832
ITEM #51 TO MASONRY/CONCRETE ’ {g/)/ INCORPORATED gt ii®  ww.windoorinc.com
VERTICAL CONDITION 2 1-13| C |REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 | TUH e AT ST
1-131 B |Updated to current Florida Building Code 07/23/08 TJH /e}//ﬁf 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
/ 5'0 x _8'2 PANELS - HEADER REINFORCING BAR DETAILS
ALL CROSS SECTIONS ARE SHOWING 10 A |[Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL "SI7E] Brn By: DWG NO. REV
REINFORCEMENT INSTALLATION ONLY SHEET | REV DESCRIPTION DATE BY B TUH 07-02-2231 D
FLORIDA REGISTRATION -
REVISIONS NO. 82514 sCALE N 1.5, |PATE 03/01/07  [SHEET 10 of 13




BILL OF MATERIAL

BILL OF MATERIAL

NO. PART NO. DESCRIPTION NO. PART NO. DESCRIPTION
1 FS01848 21 WS FRAME HEAD BY KEYMARK A6063-T6 |59 1/4" DIA, x 2 1/4" ELCO CRETE—FLEX S54 MASONRY SCREW
2 | FS01845 21 WS/NS FRAMF JAMB BY KEYMARK A6063-T6 |60 SCREEN ASSEMBIY SCREW #8 x 1 1/4” SQD PH TYPE A 589"
3 FS03435 2T WS/NS 3 1/2” HIGH RETRO SILL PAN BY KEYMARK ABOB3—=T5 81 PJS-7623-09~SN JSCREEN ROLLER, SULLIVAN .
4 FS03436 2T WS RETRO SILL INSERT BY KEYMARK AB0B3—-T5 62 FHO2300 WS SCREEN BOTIOM RAIL BY KEYMARK A60B3-T6 "”‘ .075
5 | FS01882 FRAME HEAD INSERT BY KEYMARK ABUB3=TB[63 | EHO2300 WS SCREEN TOP RAIL BY KEYMARK AB063—T16 |
6 FSQ2726 STILE JAMB INSERT BY KEYMARK ABD63-T6(64 | FHO2355 WS SCREEN STILE BY KEYMARK AB0OB3—16 ﬂ__ﬂ M as I ‘ = ]
7 FHO1869 TOP & BOTTOM RAIL BY KEYMARK A60B3-T6[65 | FS02209 WS SCREEN SWEEP BY KEYMARK A6D83—-16 %
8 FHO1871 LOCK STILE BY KEYMARK A6063-T5 |66 0187”7 X 0.130" FINSFAL o~ U U ? U
9 | FS0188% FRAME_JAMB INSERT BY KEYMARK AB063-15167 | SGD200 SCREEN HANDLE & LOCK. SULLIVAN - 5
10 | FHO2491 PANEL INTERLOCK STILE BY KEYMARK AB0682-T6168 FIBERGLASS SCREEN MESH —— &
11 FHO2165 FEMALE BUTT STILE BY KEYMARK AB063-15 |69 SCREEN SPLINE f ©
12 | FHO1877 9/16" HORIZONTAL GIASS STOP  BY KEYMARK AB063-T5]70 | FHOT85] HIGH BOTTOM RAIL BY KEYMARK ABUB3—T5
13 FHO1878 9/16” VERTICAL GLASS STOP BY KEYMARK ABDB3-T5{7% | FRO2644 HIGH BOTTOM RAIL ROLL BACKUP — BY KEYMARK ABUOB3—T8 2T WS/NS JAMB #2
14 | FS02643 ROLLER BACKUP BY KEYMARK A6063-T6[74 #8 x 2" PHILLIPS FLAT HFAD TEK SCREW
15 | #1988-9000 TANDEM ROIIFR W/DELRIN WHFE| S 73 #8 x 1 _1/2" PHILLIPS FIAT HFAD TFK SCREW
16 9/16" LAMIN H.S. GLASS W/0.075™ VANCEVA BY SOLUTA INTERLAYER, TYPE Cl 76 #8 x 3" PHILLIPS FIAT HFAD WQOD SCREW
17 _INSB 3/16-3/4-2[GLASS SETTING BLOCK 7/ 3/18” DIA_x 3 3/4" ELCO PHILIIPS FIAT HEAD TAPCON
18 TPT1066 GLASS STOP VINYL _FOR G/168”" GLASS STOPS 78 VO84B GLAZING TAPE 1/8" X 2/8" FOR 1 GLASS
19 SIKA 552 WET GLAZE ’ 79 | FHO2647 SGD BUTT SCREEN ADAPTER BY KEYMARK ABDO63—T16
20 W35351NKOOOQ [TOP & BOTTOM RAIL FINSEAL 0.187 X 0.350 80 TP1051 GLASS STOP VINYL FOR 17 GLASS STOPS
21 | W33221NKO0OO |INTERLOCK FINSEAL 0.187 X 0.990 81 INTERLOCK PANEL ASSEMBLY SCREW #10 X 3/4 IYPE F 5SS
22 PANEL STILE FINSEAL 0.187 X 0.290 87 RUBBER BUMPER, BLACK SRB 50 — 60 DUROMFTER 6.06”
23 SILL INSERT ASSY. SCREW #8 X 7/18” PH TYPE F SS 83 | FS03809 FRAME BUMPER JAMB INSERT BY KEYMARK AB0B63—T5H
24 ROLLER INSTALL., SCREWS #8 X 5/8 PH TYPE F S5
25 PANEL ASSEMBLY SCREW #10 X 1 1/4 TYPE F SS i
26 FRAME ASSEMBLY SCREW #8 X 5/8 PH TYPE F SS C * N I T q]
27 #14 WOOD SCREW INSTALL ANCHOR-1 1/2" MIN. EMB X ﬁ ?
28 SILICONE CAULK OR _NON-SHRINK GROUT 0 0
29 | _P7569AM 7507 HIGH X _1.50" X_2.25" DUAL FINNED DUST PAD 2 » ™~ %
30 1/4” DIA. x 2 3/4” ELCO CRETE—FLEX SS4 MASONRY SCREW - 2.025 ~ N
37 TP876 INTERLOCK BUMPER | 4 <
32 NRAHP PANEL HEIGHT ADJUSTMENT PLUGS T 075" vuA
33 NPG NYLON PANEL GUIDE T“‘ ’
34 EEE) GLAZING TAPE 1/4” X 378" FOR 9716 GLASS
35 | 1414 OLYMPUS HANDLE SET f 2T WS/NS HEAD #1
56 2468 DUAL POINT MORTISE LOCK & KFEPER SET FRAME BUMPER JAMB )
37 #8 x _3/4" PAN HEAD TEKS SCREW INSERT #83 =
38 FS02641 SGD REINFORCING BAR BY KEYMARK A&061—16 ™
39 9/16" LAMIN H.S. GLASS W/0.090" SGP BY DUPONT INTERLAYER, TYPE A
40 | #1988-9000 SS|TANDFM ROILFR W/STAINLESS STEEL WHEELS .
41 FS03471 21 NS RETRO SILL INSERT BY KEYMARK ABDB3-T5 12
42 FS02208 SGD FRAME SILL COVER BY KEYMARK A6063—15 s
43 1 FS02210 SGD_FRAME_HEAD COVER BY KEYMARK AB0623=15] —= .96" 0
44 | FS03588 8K/6K HFAD BUMPER ClIP BY KEYMARK A6063-T6 645" ” < »
45 T FS03587 8K/6K FRAME SNAP—IN BUMPER __ BY KEYMARK AB065—T6 "’] ‘ 4 4
46 PANEL _STILE @ BUIT STILE ,FINSEAL 0.187" x 0.220" *
47 171G TEMP_LAMIN GLASS W/0.090" SGP BY DUPONT INTERLAYER, TYPE B ;
48 1" 1G_TEMP LAMIN GLASS W/0.075" VANCEVA BY SOLUTA INTERLAYER, TYPE D Q @ PRODUCT REVISED )
49 | FHO1879 1”_HORIZONTAL GLASS STOP BY KEYMARK ‘ f d AN a8 complying with the Florida
50 | FHO1880 1”_VERTICAI GIASS STOP BY_KEYMARK Aeceptonee Mo g=l010./ 0
51 | FS03656 SGD _H.P. HEAD REIN. BAR BY KEVWARK ABOOS-T5] 3, . 5 47 DRILL THRU & Expiration Dats 2,02
53 FHO3570 BUTT STILE REIN BAR BY KEYMARK AsD61-76 HEAD REIN COUNTERSINK FOR SGD HEAD REIN. BAR #51 #8 WOOD SCREW W_&%L__A‘ L"“’ <
54 | TP166 SILL_INSERT VINYL WEEP FLAP BY TEAM PLASTICS BAR #8 WOOD SCREW ’ Miami Produet Control
55 FS02726 PANEL STILE JAMB INSERT BY KEYMARK AB0DB3-T6 Division
56 | W33221NKO00O0 |HEAD & SILL COVER FINSEAL 0.187 X 0.350 - TNV
LUIS R. LOMAS P.E. RIVE
OC 11']D OOT  oriANDO, FL 32832

TEMS 24, 32. 33 61. 62. 64 1-13] D |REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TJH v -y Phone: 407481.8400
65 & 67 ARE USED BUT NOT 1~13] C |REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 | TuH / (J(/%wa - RPORATED  releions wwwwindoodaccom
SHOWN IN CROSS SECTIONS FOR CLARITY. /09/ / o7 - i Dwg Title:

1-13| B |Updated to current Florida Building Code 07/23/08 TJH xyf/"”f? 8000 SERIES SGD LMi 2T WS/NS RETRO SILL WITH
§|1LLATSDF ;AZATiE?LSOI.'TESASENDUMBERS 57, 98, 11 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZSE OD:; gyz PANELSDWG ?\IOOM & ONIT COMPONENTSREV

REVISIONS NO. 52514 SCALE TS, |PMTE 03,0107  |SHEET 11 of 13




* ("h——— 415" “‘*"
.‘.-.__h—( C
— 3 2.375" 1.739" : 2.375" : i
” @ 1 D 1" © ’
2.375" —= o ﬁ 1.375 '~ o ﬁ 1.375 '~ o
. - i N B N & —
d Y] 8
K s < ]
— %0 R X R i < o]
M S RN B 7S — % 2
\m%ﬁ?—j] : :
L | A S f ' '
59117 !T 5.775" 5.775" o L
4.45”
2T RETRO WS/NS SILL PAN #3 2T RETRO WS SILL INSERT #4 2T RETRO NS SILL INSERT #41 FEMALE BUTT STILE #11
’~— 3.5”7 35" i
| 3.5” | ) 5.42
| ! TR | | 2
») ° ~
f : i = ‘ ) io =
:Cx) :LO o = 08” P b ’\. ‘
" o ~ & 0 . 0 ™~
& = .07 .08 N - ? -
> ? L A = , ? 0 .
LOCK STILE #8 INTERLOCK STILE #10 TOP/BOTTOM RAIL #7 HIGH BOTTOM ROLLER BACKUP #73
2.65” | » l
7.5” | (33 1.146"
) % 1 — 1 021”
‘ i ] |
; ? 08" C . T J T
™~ 2 I b } } }
L‘S - 105" = i g X =LO % n % WS SCREEN SWEEP #65
— — 125 [e)] o)) el
} ! © - o 9
L ) 1 ] - & o =
C ) ' l J PRODUCT REVISED
a8 eemplying with the Fiorida
HIGH BOTTOM RAIL #70 SGD REIN. BAR #38 BUTT STILE REIN. BAR #53 mgﬁf.ﬁdﬁoas-/o/o/o
R l~—— 2.588" ‘—*1 A Expiration Dntem;-l " '' ;} DD 2 /2
. o j 0 176" By ]
4.59 ] 2: Miamil)ad Pro#uct Contred
- NYLON PANEL Division
| B { N _ - @ GUIDE #33
Q ” .
f 5 WS SCREEN STILE #64T 062" ~f— | UIS R. LOMAS P.E. ‘OVIHDO f 7300 AMSTERDAM DRIVE
© B © 1-13 REVISED PER DADE LETTER DATED 01/22/08 | 01/26/09 TJH O o O, FL 32832
O — one; 481,
< - / Y/ / INCORPORATED g?x: 40;.?1;14.8;08;00 www.windoorinc.com
e 1-13 REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 TJH Bea T
f 1-13| B |Updated to current Florida Building Code 07/23/08 |  TUH ag//é/ 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
17 v 5'0 x 82 PANELS — UNIT COMPONENTS
12 A Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE[ D By, DWE NG, REV
SHEET | REV DESCRIPTION DATE BY FLORIDA REGISTRATION B TJH 07-02-2231 D
BUTT SCREEN ADAPTER #79 CEVISIONS NO. 62514 SCALE Ny T |PATE: 03/01 /07 SHEET 19 of 13




~— 2.025" —

~— .05"

»t 1.624" |=—

8K/6K HEAD BUMPER CLIP #44

=~ 2.025" ~=

) o .05"

8K/6K SNAP—IN BUMPER #45

1.136”

1.017

g 2573
" D'« .O62”~‘|
1

T

WS SCREEN BOTTOM RAIL #62
WS SCREEN TOP RAIL #63

~— 1.95" —=

1.135”

]

X ,
L 1.975" —

SGD FRAME HEAD COVER #43

1.975" —

s
Pl

- F
2.025" —=

SGD FRAME SIiLL COVER #42

.05’

T
L

1.375"

1.45"

ROLLER BACKUP #14

0 ] 105" |

j
E

H.P. INTERLOCK REIN. BAR #52

27"
.05"
5=

VINYL WEEP FLAP #54

| 4447

444" — ’* p
. 91" % { &
;79 2 m |t 07”
| . 3 & : 4
© -~ .07" | © \
1 | ot 9 14" — |t ]
ﬁ * d R, T 4 __U:_ -
S — 419" h
.06” 1.17" » f <
- 419 9/16” VERT. GLASS STOP #13  —
STILE JAMB INSERT #6 )
PANEL STILE JAMB INSERT #55 FRAME JAMB INSERT #9 9/16” HORT. GLASS STOP #12 PRODUCT REVISED
ss complying with the Florida
Buidihg Code
@ Accep:EncZ N(!Q&@___ZO/ 2
” 5" Expiration Date 4251/ 13724
505" *‘ h ] tv 225 f By
+ ¢ Tfﬁz i Sl P
o = - M 53" FRAME HEAD INSERT #5
. a hl.ﬂ~2” . 77”
—] © © ) : 7500 AMSTERDAM DRIVE
. - LUJS R. LOMAS P.E. \X? I )
g - - 2 1-13 REVISED PER DADE LETTER DATED 01/22/09 | 01/26/09 TJH J IN1JOOL o DO, F1. 32832
- f ? o ; / /f // INCORPORATED §?§T&§°4§f3§§§° ’ www.windootinc.com
4' e 1-13| C |REVISED PER DADE LETTER DATED 11/09/08 | 11/19/08 TJH 7 ST
4" = itle:
. 147 1-13 Updated to current Florida Building Code 07/23/08 TUH // 8000 SERIES SGD LMI 2T WS/NS RETRO SILL WITH
50 x 82 PANELS — UNIT COMPONENTS
1" HORT. GLASS 1" VERT. GLASS 13 Corrected per Dade county letter dated May 13, 2007 08/17/07 DRL SIZE] Ornv By WG NO. REV
: SHEET | REV DESCRIPTION DATE BY B TJH 07-02-2231 D
STOP #49 STOP #50 FLORIDA REGISTRATION —
REVISIONS NO. 62514 scalE NT.s. [PMTE 03/01/07 | SHEET 13 of 13




